Best model for HELP J100148.95+024452.58 at z = 1.11 x?*=2.04

d (OPT IR)=16.88 [um]

OPTy2=2.84 IRy2=0.36 threshol

o I o Stellar'att;em;aée'd””_
10 2 —  Stellar unattenuated
E CIGALE — Dust emission E
5 F — AGN emission
[ ._. = Model spectrum
101 E o 00¢ Model fluxes
E ' I [T1[1] Observed fluxes
100 E E
>
-
E 10 1 E n’\ “\ E
é Eq]‘n“' o ! o
[T -2
107 ¢ N 3
\
3 AN
- | N\ ]
10 N
N\
4 \
4 \ |
10 \
x| |
= 1.0¢ t o - - ; : -+ !
T : e (oom oo
> O05F ]
e i
3 0.0F LT E TP
- 3 / 1
v _ [ ]
2 -05 :
) ]
2 10° 10* 107 10° 10* 10° 10°

Observed wavelength [pm]



